DENTAL LIGHT

CLESTA LED DENTAL LIGHT

TYPE 320X

INSTALLATION
INSTRUCTIONS

n IBElmneaits







TABLE OF CONTENTS

Precautions for Installation

-_—

Overview and Major Components

-_

Specifications & Dimensions

Installation Instructions

Adjustment

=]
1
©

Wiring Diagram

-
o

A~ N N N N N

Flow Diagram

w

1

oo
/L J L J L J L JJ

-_—
-—




1. Precautions for Installation

1. During lifting of the dental light, make sure to hold the yoke and the balance arm described as
follows. If not, it may lead to physical injury or property damage.

2. Do not drop or hit the product.

3. Do not connect the power supply other than rated voltage.

Balance Arm

4. Be sure to adjust the leveling of the unit and chair to prevent from drifting of the dental light.

5. When the installation process has been completed, Check that all the mechanical and electrical

functions are working properly.

( /\ WARNING

]

L The LED is very bright. Do not direct the LED beam into the patient's or user's eyes. J

2. Overview and Major Components

Product label

Arm Joint
(AL-320X/AL-320XN)

Model CLESTA LED DENTAL LIGHT
Mode | No. AL-320X
Serial No.AV1599999

Takara Belmont Corp.

211 Higashishinsaibashi Chuo-ku,Osaka Japan

BELMONT EQUIPMENT, A Division ofTakarga Belmont USA, Inc.

101 BELMONT DRIVE, SOMERSET, NJ 0887. ||I I|I II|I|I‘|5‘iii‘
9999

D Belnomt
2015

Rated voltage 120V ~ 60Hz
Rated input”  0.25A

Product of Japan
27999999

(01
ETL label

)99999999999999(21)AV 159!
RECOGNIZED COMPONENT
CONFORMS T0
€ I’ ANSU/ARMI ES60601-1
NI Us. IEC 80601-2-60

——— CETIFEDTO
Intertek  “oanjesn 6222

#60601-1

Joint Cover Refer to Manual label

Yoke Joint

Yoke (Upper)
Yoke (Bottom)

Balance Arm

Lens Cover
(LED light source)

Handle

Light Head Section
(Rear side)

Intensity Control J\|
Volume -/

AL-320X
AL-320XC

SENSOR/MANUAL
Mode selection switch




3. Specifications & Dimensions

@ Model No. : AL-320X (X-Calibur Swing Arm Mount)
: AL-320XN (C-Calibur Cuspidor Mount)
: AL-320XC (Evogue Mount)

@ Rated Voltage : AC120V 60Hz
@ Rated Input : 0.25A
@ Fuse : 0.8A/250V (Time-lag)

(Breaking capacity 35A / 250VAC)
Size of Fuse 5.0 x 20

@ Weight : 12.6 Ibs (5.7kg)
@ Light Source : LED (5 LEDs)
@ Optical Performance : Focal Distance 25.6" (650mm)

: Light Intensity (Normal treatment mode)

3100 Lux / 288 FTC ~ 28000 Lux /2601 FTC
: Light Intensity (Composite mode) 4300 Lux / 399 FTC
: Correlated Color Temperature 5000K

@ Light Pattern :3.3"x6.1" (85mm x 155mm) at 25.6"
@ Protection class against electric shock : Class I Equipment.
@ Usage environment : Temperature 50 ~ 104F (10 ~ 40°C)

Humidity 30 ~75%

Air pressure 10.2 ~ 154 psi (700 ~ 1060 hPa)
@ Transportation / Storage environment : Temperature -4 ~ 158F (-20 ~ +70°C)

Humidity 10 ~95%

Air pressure 10.2 ~ 154 psi (700 ~ 1060 hPa)
@ Dimensions

*Values are the standard values. [Unit: inch (mm)]
Dimensional tolerance: £10%

+ AL-320X + AL-320XC
« AL-320XN ( Same dimentions as AL-320X except figure below)
5 6°(153) 29”(735) , 6-3/4"(173) . 297(735)
o 160°
e )
= g 160°
& B
© 160°
160°
s +Switch Box Section
3 AL-320X AL-320XN
& . AL-320XC —
< A T : ety 3
& . g %
\\\ \\\ 1<) 3 - in . -y
WS 5.3/4”(146) 3-3/47(96.6)
§.‘ [ ®] [1-34745) E 37(76.6)
N L |
Zf * Power Supply Box Section
- A\ - O |=
& LY \r 10-1/2"(268) . 3 CEE
\ ’4‘\\\\ | . N
\ ‘Ec;” Lo © ©
v 6-1/8”(155)

-l

4-3/47(123)



4. Installation Instructions

B Necessary Tools
Phillips Screw Driver, Metric Allen Wrench Set

B Attach the light assembly to the light pole

*Refer to the installation manual attached to the dental unit for installation of the light pole.
(1) Remove the M6 button screws (2) from the balance arm joint.
*Be careful not to lose the M6 button screws, it will used again.
(2) Feed the wire harness coming from the balance arm joint through the light pole. Insert the balance arm joint
of the light into the light pole. Fix with two M6 button screws (2).
* The light pole is included with the dental unit section.

Light Pole Button Screw M6 x 8 White

or Button Screw M6 x 12 Gray

Balance Arm Joint

Wire Harness
Fig.1

H Attach the light to the X-Calibur Unit
For Swing Arm Mount
(3) Feed the light assembly wire harness through the swing arm and pull the end of the harness from the lower
end of the swing arm. Mount the light pole onto swing arm (Fig.2). Insert the brake disks, set screws in to
the light pole and adjust the brake with set screws (Fig.3).

Washer T Light Pole

\
T Wire Harness
— Swing Arm Set Screw M6 x 5 SUS
/O
L
\/ /
e Ty \—Brake Disk (Brass)
/’ N
&
Fig.2 Fig.3
For Cuspidor Mount

(4) Feed the light assembly wire harness through the light support rod (Fig.4) and pull the end of the harness
from side of the cuspidor post as below (Fig.5).
Light Pole
___— Wire harness Wire harness

__— Light support rod
Washer

Fig4 Fig.5




4. Installation Instructions

H Attach the light to the Evogue Unit
For Swing Arm Mount

(3) Feed the light assembly wire harness through the swing arm and pull the end of the harness from the lower
end of the swing arm. Mount the light pole onto swing arm (Fig.6). Insert the brake disks, set screws in to
the light pole and adjust the brake with set screws (Fig.7).

Washer

\ ——— Light Pole

T Wire Harness

Swing Arm

- '

L an
Set Screw &

M6 x 5 SUS

Fig.7

For Cuspidor Mount

(4) Feed the light assembly wire harness through the light post (Fig.8) and pull the end of the harness
from side of the cuspidor post as below. Insert the set screws in to the light post and adjust the brake with
set screws as shown in Fig.9.

Washer—__
Light Pole

° Wire Harness

i Light Post

/’v

Set Screw ——
M6 x 5 SUS

Fig.9

Wire Harness

Fig.8



H Install the Power Supply Box

(5) Place the power supply box inside J.box. Connect 8P connector of power supply box and wire harness.
Feed the wire harness through the umbilical (Fig.10).
For Quolis chair, feed the wire harness to the chair side (Fig.11).

Combine with BEL-50 Chair

8P connector
Wire harness

Wire harness




M Install the Switch Box

(6) Open the control box and connect the connectors with the wire harness from the light head and the other
wire harness from the power supply box. Follow the drawing below (Fig.12).
(7) Attach the control box as shown in Fig.13 ~Fig.16.

Blue
CN4 Green
(1o Yellow

| Red
— CN9 Orange
/D Purple

Wire harness from
— power supply box in J.box

(]
(.

i
—
S
;

— Wire harness
from light head

Manual / Sensor

=

Switch B/ Orange
lack  Green

White  Blue

Pink Purple ~__

Green Gray Red

. Yellow
Fig.12
Switch Box Switch Box
Fig.13. X-Calibur Swing Arm Mount Fig.14. X-Calibur Cuspidor Mount
Switch Box

Fig.15. Evogue Swing Arm Mount Fig.16. Evogue Cuspidor Mount



B Connection of power supply box

(8) Connect the wire harness, brown tubing as per the following diagram.
After all the connection is completed, connect the power plug to AC120V (Fig.17).

Wire harness to
Control Box

A Caution
<o >
Do not connect to power
before completing
all the other connections N
Power Supply Box

Fig.17




B Check Operation of the Dental Light
When the installation process has been completed, check that all the mechanical and electrical functions are

working properly.

; Method of
Item Inspection method confirmation
Confirms the light ON and OFF when shake hand within Operation
Touch-less approximately 2-1/2” (65mm) from the touch-less switch. Check
Sensor Confirms switching the composite mode when hold hand within Operation
approximately 2-1/2” (65mm) from the touch-less switch for certain time. Check
Intensity control | During normal treatment mode, make sure the light intensity Operation
volume changes when turning the intensity control volume. Check
Make sure the light head stops and hold any positions.
Make sure that no abnormal noise occurs when the product is
Movement operated. Operation
of the Light * At the beginning, light head movement (up/down, rotation) could be tight. | Check
This is a normal symptom. As you move light head for three four times,
light movement becomes smooth.

( /\ WARNING ]

L The LED is very bright. Do not direct the LED beam into the patient's or user's eyes.

5. Adjustment
After checked operation of the dental light, adjust the dental light if you have following cases
Balance arm doesn't stay at the desired position = Adjust the tension of the balance arm. Follow instructions
[Adjustment of the tension of the balance arm]
Light head is not vertical position = Adjust the angle of the light head. Follow instruction
[Adjustment of the angle of the light head]

B Adjustment of the tension of the balance arm

Position the angle of the balance arm so the tension adjustment nut becomes visible just under slot A.
Turn the nut and adjust the tension with the adjustment bar supplied with the light.(Fig.18)

_— — Adjustment Bar

When the light head tends to go up,
— Turn the nut to @ direction.

Adjustment Nut When the light head tends to go down,
. — Turn the nut to (=) direction.
Fig.18 ©




B Adjustment of the angle of the light head
Remove the yoke joint cover by removing the two M3 x 6 tapping screws. Move down the balance arm and

loosen the set screw on the joint shaft by use of 2mm hex key wrench before adjust the angle of the light head.

(Fig.19) Yoke Joint Cover  Tapping screw

Adjustment Bar ?( M3 x 6 Chrome Joint Shaft
5 Set Screw

55 M4 x 5 Chrome
b

Light Head

Side Fig.19

/\ CAUTION ]

lTurning the adjustment nut without loosen the set screw, it may cause damage to the shaft. Make sureJ

loose the set screw before turning the adjustment nut.

Adjustment Bar

Position the angle of the balance arm so the
head angle adjustment nut becomes visible
just under the slot B. Turn the nut and adjust
the tension with the adjustment bar supplied
with the light. (Fig.20)

When the light head tends to
go down,
— Turn the nut to © direction.

When the light head tends to
go up,
— Turn the nut to @ direction.

After adjustment is done, re-tighten the set screw by use of 2mm hex wrench. Fix the joint cover with two
M3 x 6 tapping screws and insert the joint cover into balance arm.

( /\ CAUTION )

LUnless this socket screw is re-tightened, the angle of the head will be changed during use. J




10

iagram

D

iring

6. W

uo13I3S X0g [043U0D)
\\\\\\\\\\\\\\\\\\\\\\\\\\\\\ .
I
[osaovi | Shemea
_ (X0zE)211m pea| wie dpisuy pelicy ”
uopd3s MOA ws)
uodas peaH wawisnipe X [Cooidovi] . (x0¥2051) fugas !
Aassuaaui (4n) (2412} 10J) X0q [01UOD (006-1Q) g2d 1043u0D 4617 a7 i S A
l dEWX 10 31M pea] ”
=1 7 dEHN
<A} [\
o 3[0Ing | Orsamg o 31ding ndu 1sf "
M 9bUeIQ m abueio X :a%“, 6ND |
L@ pay O PaYy HrN [E] Jamod ASHQ mm._..._mv_m ﬂ_N._.Im_M |
=] dEvX I
e DIBOYL @ anig ano 150 IND 9ND |
G, nduy Josuas = b} a314amod
(10€) Uon3S SWNjoA o, Ua919 ; ¥ND g s g |
Juswisnfpe Ausuaiy| 14 I Yamod sosuag 38 g xx' ”
-2 + £ (Gar0r103)
devX
““““ ST RN © O NN © O S
| ! Asse asoy 1onp = = E
I ” . ngj[ea-x 03 ajelodiodul, dvvX Z [M S (swmanog) (Y2UMS /S Yum)
—1 D
| [ [Conesovi ] o 2 oy 211 pea| xoq §d
| B X076~V 404 dul|sunit A1 ® usa19 14Big TYNNVYIN
I oo 3ng anig S1amng | [ uid = | 5Nig b1
| —.FZmu_. " andino Josuas (7 [EE5) [EE)D) an|g € SHYM 2 Yuid 440
| Induysamod sosuas (| o MOToA EEIS) \O; perg = P YOSN3S
N = =] (usal m
[ (+19£091) | [ hisovi] S b
. 10SUS 10J duI| Yuns 1
” (10€) 'gdd Josuss (10€) 90d d3740j aul| yunip
“““““““ J
gdpyuod| I | | VL .
iy , T , m uondag xog A|ddng ‘_Eson_u
13uu03 Jou og | o Cze ”
|-219010030u 51 48YX O] —
J0pauu0> siyy — SidIng L) i YOTND AW | ;%
:ajoN, 5] [ ! m_l_ W (wHrE09L) ” 104 (X0T6) 12Ul YunIL
lof = 1ndino samog rxTI € Ceovt]
158051 g R] Bl o PR, (106)8)d | g oo @
(sq31) Assy a|npow @31 MOIIPA Nl ) 207N 1MOdIYBIT @I | PN S ez i
Ut i . wonld | EErai,
| ! dTiNX p MOJI3A o pandno g o |
| = = = ™60 ) X HA i snog| SSdwon] e\
| umolg umoig K 019 _K abueid pay| Ly ndino g1 LN T AOZLOV wnoig N Um0
” e eg [ ydeig [T Bpera [T umorg TMOT[] o) umoig | N (e NEA
I** E v<m,0\>%m‘N
L [ w380y ] s e oz | ¥ Xozg s e T [woavovi]
(LOE) 3[NpOW @37 40} dul| junip aujeubis'gddlamog 0 T T T T T T T T T T T T T T — ~gdd Jamod Joj auijuniy 710001 9p0> Jamod
o T
- r - 8XLOV L | 1%
d sn|d 3UQ-dD :dPIS ZET ‘UM 41e]D :3PIS Dd €dr 5 as
- ; - snidauQ-¢) :uQ ‘Hun Jiepy
2d snid auQ-dD @pIS €2 WUN D PIs D | ¥MS 440 _ m_%_sm% Bul _ugww au s euonoung
140 Bunuiiq pidey :uQ ‘Bupjulig MoIS 4O 8 "apow Je|nbaJ 0jul s306 1ybI| ‘3|qey Ip woly |eubis o uo buinab uo sdasy Z:
3pol ausoduio) Jo bumas yuljq 431 *10suds e Buisn Aq uo pauiny s 1yBi| e usym PO Jeinbay *| : uQ
sdqootz :u0 ‘sdqo08y HO NO | ‘opow ausodwod uiskess by ‘ajqel Jp wo [eubis yosuo bumab uo sdady 7 : peidedad
440 dUI| UoIEIIUNWIWOD Jo Bullds paads L £MS "Josuas e Buisn g uo pauiny st ybi| e usym apojy sodwo) °L : YO EMS suid sjew sey
ON U0 S3AH0 “UOIIPUO O 1YBI woly Buiss ssauiybliq dn-axem 0P De|q LiMm Spls YL
440 apojy awsodwo) sapnpu; | 2 NO SPU0J3S 7 :UQ ‘pu0das | :JO 1oppdelg
Ul SBLOD pueY B U3YM 31BAIDY :UQ (tosuss e Aq) apow dxsodwio) 03 awiy uopisues) 10123UU0) WX ™ WX
140 ‘Keme s906 puey e UBYM 31BAIDY JO | § 140 uoijesado 3s3] :UQ ‘uoNeIAdo [BWLION :HO 10123UU0 D WX ™ ¥X
Bumas uonennde 10suag (440 sAem|y ) spow 1531 10193UU0) NS ™" S
bumas uonIpUo? BumSS bumas uonipuod bumas [oquiks 1033uu0)
yneyq W ! yneyq Speway

"(€dr) uid sadwinf pue (y'gMS ) saydums dip gdd Jo sbuimss




7. Flow Diagram

®— Blue 1/8”
@ Yellow 1/4”
@— Brown 1/8”
Orange 1/8”
®— Red 1/4”
®— Gray 1/8”
®— Yellow 1/8”

JUNCTION BOX
[

s

£

! [
=

I T-Joint — S

Water

Brown 1/8”

= 1% |

1






/

N
n IBElimn@ints

BELMONT EQUIPMENT, Division of Takara Belmont USA, Inc.
101 Belmont Drive Somerset, New Jersey 08873 U.S.A. TEL.:(732) 469-5000 / (800) 223-1192 Fax.:(732)356-1035

TAKARA CO, CANADA LTD.
2076 S. Sheridan Way, Mississauga, Ont., L5J2M4, Can. TEL.:(905) 822-2755 Fax.:(905)822-6203

ul

TAKARA BELMONT CORPORATION (Manufacturer)
2-1-1, Higashishinsaibashi, Chuo-ku, Osaka, 542-0083, Japan TEL.: +81-6-6213-5945 FAX.: +81-6-6212-3680

Book No. 1E0439CE
Printed in Japan, 2015-11



